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Chapter 1

- Page 7, expression (1.11) should read:

tn = −(cosφ)t−x − (sinφ)t−y . (1.11)

- Page 8, Figure 1.6 should be:
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Fig. 1.6

- Page 23, expression (1.108) should read:
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- Page 24, expression (1.110) should read:
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Chapter 4

- Page 98, expression (4.60) should read:
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Chapter 7

- Page 169, the �rst line of (7.8) should read:

Φ = θ , Φ = r2θ , Φ = θ ln r , Φ = θr2 ln r ,
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Chapter 11

- Page 356, Figure 11.2 should be:
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Fig. 11.2

- Page 359, Figure 11.5 should be:
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Fig. 11.5

- Page 363, in the third line below (11.45): �... (1− 2ν)p0/2. For ν = 1/3, this is τmax = p0/6 = 0.167p0�
should be: �... (1− 2ν)p0/4. For ν = 1/3, this is τmax = p0/12 = 0.083p0�.

Chapter 13

- Page 461, in the second line below expression (13.81): �the stationary it condition� should be �the
stationary condition�.

2


